

Monday 10:00 am

Salon de Quilles Laval

Lanes 1 - 14

Team Standings

Place	#	Team Name	Team Captain	Points Won	Last Wk WON	Team Ave	Pins + HDCP	HDCP Game	HDCP Sers
1	7	RENE DINELLE	Rene Dinelle	477	15	897	31546	1108	3157
2	2	ANDRE HOTTE	Andre Hotte	416	12	903	30830	1092	2926
3	1	CAROLE BENOIT	Carole Benoit	410	55	829	30910	1106	3070
4	10	GUY BOISJOLY	Guy Boisjoly	400½	35	848	30634	1114	3205
5	3	RAYMOND BEAULAC	Raymond Beaulac	395½	31	824	30783	1029	3065
6	8	HELENE MARCIL	Helene Marcil	387	47½	769	30425	1017	2984
7	4	MARCEL POULIN	Marcel Poulin	375	36	824	30333	1034	2986
8	5	CLAUDETTE BOIVIN	Claudette Boivin	374½	19	815	27982	1078	3040
9	13	DANIEL LEMAIRE	Daniel Lemaire	372½	26	818	30481	1103	2983
10	14	LORRAINE REGIMBALD	Loraine Regimbal	357½	43½	797	30100	1052	3055
11	6	LOUISE ANFOSSI	Louise Anfossi	349	61	811	30241	1068	3064
12	11	DENISE DELVOYE	Denise Delvoye	330	23	814	30067	1081	3044
13	9	THERESE NOURY	Therese Noury	308	35	796	29819	1010	2856
14	12	PIERRE NOURY	Pierre Noury	277½	37	810	29532	1049	2879

*** Although not shown, standings are determined by points only for the current part

Review of Last Week's Bowling.....

Lanes	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON	Team Name	HDCP -1-	HDCP -2-	HDCP -3-	HDCP Total	Last Wk WON
1-2	CAROLE BENOIT	927	1037	1106	3070	55	<--> HELENE MARCIL	1011	953	924	2888	47½
3-4	CLAUDETTE BOIVIN	904	834	907	2645	19	<--> MARCEL POULIN	887	908	962	2757	36
5-6	RENE DINELLE	854	920	845	2619	15	<--> DENISE DELVOYE	879	897	873	2649	23
7-8	THERESE NOURY	963	837	921	2721	35	<--> DANIEL LEMAIRE	1005	832	877	2714	26
9-10	GUY BOISJOLY	932	983	861	2776	35	<--> LORRAINE REGIMBA	923	953	966	2842	43½
11-12	RAYMOND BEAULA	950	850	890	2690	31	<--> ANDRE HOTTE	765	863	866	2494	12
13-14	LOUISE ANFOSSI	1068	997	999	3064	61	<--> PIERRE NOURY	939	934	922	2795	37

Average List of Regular Team Members

Men Division 1: Division1

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
7	Rene Dinelle	224	78	17483	279	812	13	Jean-Pierre Cardinal	177	69	12246	260	689
13	Daniel Lemaire	218	78	17010	290	745	12	Ludger Daoust	171	72	12367	257	655
2	Andre Hotte	209	76	15922	289	753	7	Ronald Busilacchi	170	78	13328	250	609
3	Robert Labrosse	206	75	15465	260	716	6	Roger Giroux	169	75	12728	234	582
10	Guy Boisjoly	205	78	16002	283	767	2	Daniel Gelinis	169	78	13232	266	661
12	Pierre Noury	195	72	14110	268	750	3	Raymond Beaulac	169	77	13055	223	615
14	Germain Boivin	194	78	15145	280	740	1	Alain Brulotte	167	57	9534	237	664
4	Marcel Poulin	193	78	15089	296	767	5	Richard Gagnon	165	67	11100	247	654
2	Francois Lavalee	190	66	12569	258	658	1	Jocelyn Joly	163	73	11932	239	606
10	Luigi Stival	184	72	13313	257	634	2	Rejean Masson	159	74	11775	233	656
11	Louis Maheu	183	78	14308	256	729	12	Robert Cloutier	142	72	10249	246	604
1	Daniel Robillard	182	66	12075	258	645	8	Normand Thibault	140	66	9285	225	631
5	Andre Giroux	182	72	13145	236	630	4	J-Marc Durocher	139	75	10446	219	527
4	Andre Lacelle	181	73	13255	278	734	3	Yvon Lemieux	136	69	9449	202	576
4	Michel Forget	180	75	13535	255	691	5	Fernand Garon	124	75	9345	189	482
7	Real Langlois	180	66	11888	254	682	8	Jacques Cloutier	118	77	9114	193	499
9	Claude Contant	180	63	11346	279	707	11	Raymond Meloche	118	62	7336	194	418

Women Division 1: Division1

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
6	Louise Anfossi	198	78	15498	300	748	2	Danielle Bergeron	176	64	11306	264	639
11	Denise Delvoye	188	78	14704	279	771	8	Helene Marcil	173	63	10906	262	673
8	Denise Croteau	187	72	13529	256	687	10	Lisette Carrier	173	72	12457	262	667
5	Claudette Boivin	181	60	10868	258	659	1	Carole Benoit	169	78	13205	245	639
6	Adele Duval	179	75	13478	255	696	12	Carmel Laflamme	168	75	12640	257	687
14	Loraine Regimbal	178	78	13920	299	747	11	Carmella Mercury	166	78	12999	223	617
9	Therese Noury	177	72	12803	289	634	14	Lina Lemieux	166	66	10982	247	615

Team	Name	Ave	Gms	Pins	High Game	High Sers	Team	Name	Ave	Gms	Pins	High Game	High Sers
3	Diane Busilacchi	165	78	12894	238	621	3	Line St-Hilaire	148	69	10235	219	519
7	Celine Oullette	164	66	10851	225	570	1	Monique Dubois	148	75	11117	253	623
5	Yolande Lalonde	163	75	12253	223	624	13	Rachel Cloutier	142	72	10241	216	556
9	Roxanne Boisjoly	160	78	12556	261	636	14	Maria Thibault	135	63	8528	208	557
11	Carmen Couture	159	72	11517	221	581	12	Denise Narbonne	134	75	10062	212	521
7	Pierrette Beaulac	159	77	12310	227	638	10	Pina Gaspari	132	72	9546	192	516
10	Carole Labelle	154	78	12073	257	642	4	Lise Maheu	131	78	10257	195	481
9	Nicole Gauthier	153	75	11547	234	609	13	Gisele Lepage	129	75	9678	199	505
13	Gisele Tremblay	152	75	11451	268	647	9	Therese Lussier	126	69	8754	217	513
8	Jacinthe Girard	151	60	9073	215	551	14	Connie Pittana	124	75	9355	196	443
6	Colette Bernier	150	69	10383	249	561	6	Nicole Seguin	115	78	9032	178	455

Lane Assignments

	<u>1-2</u>	<u>3-4</u>	<u>5-6</u>	<u>7-8</u>	<u>9-10</u>	<u>11-12</u>	<u>13-14</u>
Today	11-12	7-8	13-14	1-2	3-4	5-6	9-10
Next Week	6-13	3-1	9-12	8-5	7-10	2-11	14-4

Last Week's Top Scores

Handicap Game	1106	CAROLE BENOIT	1068	LOUISE ANFOSSI	1011	HELENE MARCIL	
Handicap Series	3070	CAROLE BENOIT	3064	LOUISE ANFOSSI	2888	HELENE MARCIL	
Men	Scratch Game	257	Daniel Robillard	255	Ludger Daoust	227	Rene Dinelle
	Scratch Series	626	Ludger Daoust	606	Daniel Lemaire	586	Marcel Poulin
Women	Scratch Game	214	Lorraine Regimbal	213	Adele Duval	204	Colette Bernier
	Scratch Series	571	Lorraine Regimbal	561	Colette Bernier	555	Adele Duval

Season High Scores

Handicap Game	1114	GUY BOISJOLY	1108	RENE DINELLE	1106	CAROLE BENOIT
Handicap Series	3205	GUY BOISJOLY	3157	RENE DINELLE	3070	CAROLE BENOIT
	Scratch Game			Scratch Series		
Men	296	Marcel Poulin	812	Rene Dinelle		
	290	Daniel Lemaire	767	Marcel Poulin		
	289	Andre Hotte	767	Guy Boisjoly		
	283	Guy Boisjoly	753	Andre Hotte		
	280	Germain Boivin	750	Pierre Noury		
	279	Rene Dinelle	745	Daniel Lemaire		
	279	Claude Contant	740	Germain Boivin		
	278	Andre Lacelle	734	Andre Lacelle		
	268	Pierre Noury	729	Louis Maheu		
	266	Daniel Gelin	716	Robert Labrosse		

Season High Scores - Continued**Women**

300	Louise Anfossi	771	Denise Delvoye
299	Lorraine Regimbal	748	Louise Anfossi
289	Therese Noury	747	Lorraine Regimbal
279	Denise Delvoye	696	Adele Duval
268	Gisele Tremblay	687	Denise Croteau
264	Danielle Bergeron	687	Carmel Laflamme
262	Helene Marcil	673	Helene Marcil
262	Lisette Carrier	667	Lisette Carrier
261	Roxanne Boisjoly	659	Claudette Boivin
258	Claudette Boivin	647	Gisele Tremblay

Team Rosters

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
1 - CAROLE BENOIT									
Monique Dubois	11117	75	148	140	123	117	380	140 - 149=-9	380 - 447=-67
Jocelyn Joly	11932	73	163	107	177	179	463	179 - 163=16	463 - 489=-26
Alain Brulotte	9534	57	167	170	203	207	580	207 - 165=42	580 - 495=85
Daniel Robillard	12075	66	182	152	174	257	583	257 - 182=75	583 - 546=37
Carole Benoit	13205	78	169	185	187	173	545	187 - 168=19	545 - 504=41
2 - ANDRE HOTTE									
Rejean Masson	11775	74	159	137	92	121	350	137 - 160=-23	350 - 480=-130
Daniel Gelin	13232	78	169	88	174	125	387	174 - 171=3	387 - 513=-126
Danielle Bergeron	11306	64	176	126	133	174	433	174 - 178=-4	433 - 534=-101
Francois Lavalee	12569	66	190	164	191	171	526	191 - 191=0	526 - 573=-47
Andre Hotte	15922	76	209	160	183	185	528	185 - 210=-25	528 - 630=-102
3 - RAYMOND BEAULAC									
Yvon Lemieux	9449	69	136	103	105	89	297	105 - 138=-33	297 - 414=-117
Line St-Hilaire	10235	69	148	a148	a148	a148	444		
Diane Busilacchi	12894	78	165	122	109	138	369	138 - 167=-29	369 - 501=-132
Robert Labrosse	15465	75	206	201	181	175	557	201 - 207=-6	557 - 621=-64
Raymond Beaulac	13055	77	169	205	136	a169	510	205 - 169=36	

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
4 - MARCEL POULIN									
Lise Maheu	10257	78	131	101	140	128	369	140 - 131=9	369 - 393=-24
J-Marc Durocher	10446	75	139	127	106	152	385	152 - 139=13	385 - 417=-32
Michel Forget	13535	75	180	144	153	116	413	153 - 182=-29	413 - 546=-133
Andre Lacelle	13255	73	181	155	148	a182	485	155 - 182=-27	
Marcel Poulin	15089	78	193	187	188	211	586	211 - 193=18	586 - 579=7
5 - CLAUDETTE BOIVIN									
Fernand Garon	9345	75	124	89	105	91	285	105 - 125=-20	285 - 375=-90
Yolande Lalonde	12253	75	163	133	100	161	394	161 - 164=-3	394 - 492=-98
Richard Gagnon	11100	67	165	183	122	145	450	183 - 166=17	450 - 498=-48
Andre Giroux	13145	72	182	138	146	149	433	149 - 184=-35	433 - 552=-119
Claudette Boivin	10868	60	181	a181	a181	a181	543		
6 - LOUISE ANFOSSI									
Nicole Seguin	9032	78	115	155	104	96	355	155 - 115=40	355 - 345=10
Colette Bernier	10383	69	150	174	183	204	561	204 - 148=56	561 - 444=117
Roger Giroux	12728	75	169	170	161	142	473	170 - 170=0	473 - 510=-37
Adele Duval	13478	75	179	213	175	167	555	213 - 179=34	555 - 537=18
Louise Anfossi	15498	78	198	167	185	201	553	201 - 199=2	553 - 597=-44
7 - RENE DINELLE									
Celine Oullette	10851	66	164	88	158	139	385	158 - 166=-8	385 - 498=-113
Pierrette Beaulac	12310	77	159	155	186	a159	500	186 - 159=27	
Real Langlois	11888	66	180	136	162	151	449	162 - 181=-19	449 - 543=-94
Ronald Busilacchi	13328	78	170	150	143	152	445	152 - 171=-19	445 - 513=-68
Rene Dinelle	17483	78	224	227	173	146	546	227 - 225=2	546 - 675=-129
8 - HELENE MARCIL									
Jacques Cloutier	9114	77	118	109	154	92	355	154 - 118=36	355 - 354=1
Normand Thibault	9285	66	140	133	160	130	423	160 - 140=20	423 - 420=3
Jacinthe Girard	9073	60	151	155	130	139	424	155 - 151=4	424 - 453=-29
Denise Croteau	13529	72	187	201	164	189	554	201 - 188=13	554 - 564=-10
Helene Marcil	10906	63	173	184	116	145	445	184 - 174=10	445 - 522=-77
9 - THERESE NOURY									
Therese Lussier	8754	69	126	114	150	89	353	150 - 127=23	353 - 381=-28
Nicole Gauthier	11547	75	153	135	102	132	369	135 - 155=-20	369 - 465=-96
Roxanne Boisjoly	12556	78	160	163	89	177	429	177 - 161=16	429 - 483=-54
Claude Contant	11346	63	180	a180	a180	a180	540		
Therese Noury	12803	72	177	173	118	145	436	173 - 179=-6	436 - 537=-101
10 - GUY BOISJOLY									
Pina Gaspari	9546	72	132	125	143	129	397	143 - 132=11	397 - 396=1
Lisette Carrier	12457	72	173	139	181	151	471	181 - 173=8	471 - 519=-48
Carole Labelle	12073	78	154	171	123	92	386	171 - 155=16	386 - 465=-79
Luigi Stival	13313	72	184	a184	a184	a184	552		
Guy Boisjoly	16002	78	205	163	202	155	520	202 - 206=-4	520 - 618=-98
11 - DENISE DELVOYE									
Raymond Meloche	7336	62	118	96	87	124	307	124 - 119=5	307 - 357=-50
Carmen Couture	11517	72	159	a159	a159	a159	477		
Carmella Mercury	12999	78	166	160	152	118	430	160 - 167=-7	430 - 501=-71
Louis Maheu	14308	78	183	127	188	145	460	188 - 184=4	460 - 552=-92
Denise Delvoye	14704	78	188	156	130	146	432	156 - 190=-34	432 - 570=-138

Name	Pins	Gms	Ave	-1-	-2-	-3-	Total	Weekly Over Ave Game Ave +/-	Weekly Over Ave Series Ave +/-
12 - PIERRE NOURY									
Robert Cloutier	10249	72	142	a142	a142	a142	426		
Denise Narbonne	10062	75	134	94	82	106	282	106 - 135=-29	282 - 405=-123
Carmel Laflamme	12640	75	168	109	169	101	379	169 - 170=-1	379 - 510=-131
Ludger Daoust	12367	72	171	197	174	255	626	255 - 170=85	626 - 510=116
Pierre Noury	14110	72	195	210	180	131	521	210 - 196=14	521 - 588=-67
13 - DANIEL LEMAIRE									
Gisele Lepage	9678	75	129	149	110	128	387	149 - 129=20	387 - 387=0
Rachel Cloutier	10241	72	142	132	86	110	328	132 - 143=-11	328 - 429=-101
Gisele Tremblay	11451	75	152	119	104	95	318	119 - 154=-35	318 - 462=-144
Jean-Pierre Cardinal	12246	69	177	204	171	163	538	204 - 177=27	538 - 531=7
Daniel Lemaire	17010	78	218	222	182	202	606	222 - 218=4	606 - 654=-48
14 - LORRAINE REGIMBALD									
Connie Pittana	9355	75	124	a124	a124	a124	372		
Maria Thibault	8528	63	135	87	100	125	312	125 - 136=-11	312 - 408=-96
Lina Lemieux	10982	66	166	163	127	155	445	163 - 167=-4	445 - 501=-56
Lorraine Regimbal	13920	78	178	193	214	164	571	214 - 177=37	571 - 531=40
Germain Boivin	15145	78	194	154	186	196	536	196 - 194=2	536 - 582=-46